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(% A) (B{:H,%)

X % HIETEZE [
LT EEE HEtF 5% SAE%E IXAK%E .

] B FE x| SEX
XIEEX & 613,000 613,000 225 225 0.0 100.0
EEXHE 2,000 2,000 0.0 —
BEXHE 2,000 2,000 0.0 —
RAE 878,000 878,000 878,000 878,000 100.0 100.0
A 1,000 1,000 432,221 432,221 432221 100.0
FEUIXA 4,000 4,000 518,488 518,488 12962.2 100.0

&5t 1,500,000 0 1,500,000 1,828,934 1,828,934 121.9 100.0

(F H) (B{s1:M,%)

X 4% N FHIEFHE%E N B - ﬁ

5 5 LY FEEE FiEEFT L% HEtF 5% X HiKEE FE %ttt
wisE 21,000 21,000 6 0.0
EfEcEE 1,153,000 1,153,000 11,919 1.0
HXHE 106,000 106,000 36,638 34.6
NEE 20,000 20,000 0.0
FiEE 200,000 200,000 0.0

&5t 1,500,000 0 1,500,000 48,563 3.2




